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 BVG6A/CPG6D 

Time : 1 ½ hours Maximum : 75 marks 

PART A — (5  3 = 15 marks) 

Answer any FIVE questions each in 30 words. 

1. Give any two components of working capital. 

 |øh•øÓ ‰»uÚ EÖ¨¦PÒ H÷uÝ® Cμsk u¸P. 

2. What is expression working capital? 

 öu›Â¨¦ |øh•øÓ ‰»uÚ® GßÓõÀ GßÚ? 

3. Whit is commercial paper as source of finance? 

 ''ÁoPz uõÒ Gß£x Kº {v ÁÈ''  GßÓõÀ GßÚ? 

4. What do you mean by aggressive and matching 
approach? 

 wÂμ©õÚ AqS•øÓ ©ØÖ® ö£õ¸zu©õÚ 

AqS•øÓ Gß£uß EÚx P¸zx ¯õx? 

5. What  is the nature of cash? 

 öμõUPzvß ußø© ¯õx? 
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6. What is holding of cash? 

 ¤i¨¦ öμõUP® GßÓõÀ GßÚ? 

7. What is cost of collection? 

 AhUP Á`¼¨¦ GßÓõÀ GßÚ? 

8. What is a bad debt? 

 ÁμõUPhß GßÓõÀ GßÚ? 

9. Give any two objectives of holding inventories. 

 \μUS øÁzv¸zu¼ß ÷|õUP[PÒ H÷uÝ® 

Cμsøhz u¸P. 

10. What is inventory turnover ratio? 

 \μUS ÂØÖ •uÀ ÂQu® GßÓõÀ GßÚ? 

11. What do mean by selective inventory control? 

 öu›¢öukUP¨£mh \μUS Pmk¨£õk Gß£uß EÚx 

P¸zx ¯õx? 

12. What is aging schedule? 

 •vºÄ AmhÁøn GßÓõÀ GßÚ? 
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PART B — (3  10 = 30 marks) 

Answer any THREE questions each in 200 words. 

13. What are the various sources of short term 
working capital?  

 SÖQ¯ Põ» |øh•øÓ ‰»uÚzvß £À÷ÁÖ ÁÈPÒ 

¯õøÁ? 

14. What are the aims of financing current assets? 

 |h¨¦ ö\õzx {v°¯¼ß SÔU÷PõÒPÒ ¯õøÁ? 

15. Explain the determination of optimum cash 
balance. 

 Ezu© AÍÄ öμõUP C¸¨¦ wº©õÛ¨¦PøÍ ÂÁ›UP. 

16. What are the factors influencing the size of 
receivables? 

 ö£ÖuÀ AÍÄPøÍ wº©õÛUS® PõμoPÒ ¯õøÁ? 

17. Explain the needs of selective inventory control. 

 öu›¢öukUP¨£mh \μUSU Pmk¨£õmiß 

÷uøÁPøÍ ÂÁ›UP. 
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18. What is the importance of working capital in a 
business? 

 ÁoPzvÀ |øh•øÓ ‰»uÚzvß •UQ¯zxÁ® 

¯õx? 

19. State the disadvantages of trade credit as source 
of short-term finance. 

 ''SÖQ¯ Põ» {vUPõÚ ‰»® ÁoPU Phß'' Gß£vß 

wø©PøÍU TÖP. 

PART C — (2  15 = 30 marks) 

Answer any TWO questions each in 500 words. 

20. From the following particulars a marketing Ltd., 
determine the working capital requirements:  

Operating cycle components:  

Raw Materials 40 days 

Work-in-process 30 days 

Finished goods 10 days 

Debtors 25 days 

Creditors 50 days 

 Annual sales are Rs. 80,00,000: cost structure as 
percent of sale price is-materials 60%: Labour 20% 
Overheads 10% and profit 10%. 20% overheads 
constitute depreciation. 

 Cash balance decided to be held Rs. 2,00 000.  

[P.T.O.]
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 ¤ßÁ¸® \¢øu°¯À {ÖÁÚzvß ÂÁμ[PøÍU 

öPõsk Auß |øh•øÓ ‰»uÚ ÷uøÁø¯ 

wº©õÛUP. 

ö\¯À£k _ÇØ] EÖ¨¦PÒ:  

‰»¨ ö£õ¸mPÒ 40 |õmPÒ 

÷Áø»°À ÁÍºa] 30 |õmPÒ 

•iÁøh¢u \μUSPÒ 10 |õmPÒ 

PhÚõÎPÒ 25  |õmPÒ

PhÜ¢÷uõº 50 |õmPÒ 

 Bsk ÂØ£øÚ ¹. 80,00,000: ÂØ£øÚ Âø»UPõÚ 

AhUP Aø©¨¦ ÂQu® & ö£õ¸mPÒ 60%: T¼ : 20% 

÷©Øö\»Ä&10%, ©ØÖ® C»õ£® 10% ÷©Øö\»Ä «x 

20% ÷u´©õÚ® öPõÒP. 

 öμõUP C¸¨¦ ¹£õ´ 2,00,000 GÚU öPõÒP. 

21. What do you understand by working capital? How 
will you measure working capital in going 
concern? 

 |øh•øÓ ‰»uÚ® Gß£x SÔzx } AÔÁx ¯õx? 

ö\¯À£k {ÖÁÚzvß |øh•øÓ ‰»uÚzøu 

GÆÁõÖ AÍÂkÁõ´? 

22. Explain the utility and preparation of cash budget 
as a tool of cash management. 

 öμõUP ÁμÄ ö\»Ä vmh £¯ß£õk ©ØÖ® u¯õ›¨¦ 

öμõUP ÷©»õsø©°À Kº P¸Â ÂÍUSP. 
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23. ‘Receivables forecasting is important for the 
management of receivables forecasting”. Discuss. 

 ''•ß Tmi AÔ²® ö£ÖuÀPÎß ÷©»õsø©US 

•ßTmi AÔ²® ö£ÖuÀPÒ •UQ¯©õÚuõS®''. 
ÂÁõvUPÄ®. 

24. Explain various tools and techniques used for 
inventory management. 

 \μUS ÷©»õsø©°À £¯ß£k® £À÷ÁÖ P¸Â 

©ØÖ® ~m£[PøÍ ÂÁ›. 

———————  


